20234 [58]

AFNEHFOYFY T4 —dIWNITXE

2023/05/23 (:X) 17:36

2023 £ 5 A 23 B (K)

BMBAE RYFT12 =L * ok k * % * * * % * % %
FTHUHIRR : PAR X 2 TIhODQ®BDB®B®D®O® 1@ @ @ @ @ @ @® @ @
HDCPLERR: (E) 36.0 (&) 36.0 E=R
B B b & OUT | I N [GROSS| HDCP | NET B By OUT | I N |GROSS| HDCP | NET
& B BHE 0= 48] 46] 94] 25.2 68 .8 A& 516 [ A 53 51 104] 30.0 740
EER T a— 48] 42| 90] 20.4 60 6| AE 0 BT M 47 44 911 16.8 74. 2
3L FxM a— 40] 43 83[ 13.2] 69.8AB b3 [BAE =dl A1 50] 01 16.8] 74.2
i BB 417 48] 89] 19.2 60 8| AE 54f [HH RE— 451 46/ 91 16.8 74.2
oL | HE Bk 48] 47] 95 25.2 69. 8 A S 55fi B 5RIZ M 48] 49] 97 22.8 IIWAPNS
b | EiE IE 44 38] 82] 12.0 70.0AS 56f [HRIF EE 477 507 977 22.8 14.2
TR #9F %t 45 43| 88| 18.0 70.0 A B b (KRB Eh 56 47] 103] 28.8 T4 2AE
8L %k m 40| 47] 87 16.8 70. 2NP4 A B h8f |mumk sodh 497 47| 96 21.6 74 4
k. HE Bl 7] 43| 85 14.4 70. 6 A S 50f &R B 511 57| 108] 33.6 74 4
10 @ik =em 47 44 971] 20.4 70. 6 A S 60 == #08A 45 50/ 95 20.4 74 6 ANE
6 2% = 48] 48] 96 25.2 70. 8 FEEE R 511 44 95 20.4 746
1262 [ILA {817 41 42] 83/ 12.0 71.0 621 [ZxH E—ER 49] 46/ 95 20.4 746
136 [fR¥F BE 2] 47] 89] 18.0 71.0 63 EH & 39 43 82| 1.2 748
46 (EH &RA 50 44] 94] 22.8 71.2 64 |5 ABK 44 44 88] 13.2 748
156 50 iz 45 47]  92] 20.4 1.6 AS 6o =i Bt 46]  42] 88 13.2 74 8 ANE
166 R¥F =% 44 41] 85 13.2 71.8 66 1T F _BX 421 46/ 88 13.2 748
1762 [T 3R % 45 46/ 91 19.2 1.8 AS HFRESAE] 47 41] 88 13.2 74 8 ANE
18 /Ny &— 39 39/ 78] 6.0 72 0|NE:11 68 5%EH &% 447 44] 88| 13.2 748
190 A, B— 39 45 84 12.0 72.0 60z =@ H&E 2] 45| 87 12.0 75.0
2006 (B B 477 43 90] 18.0 2.0 AS 7067 [N = 127 45 87/ 12.0 75. 0 AB
21 HFP 2.5 46]  44] 90] 18.0 72.0 T B2 —3 A1 46] 87 12.0 75.0
220 ERA Bk 73] 40/ 83] 10.8 72 2INP:A1 T2 T A 2] 45| 87 12.0 75.0
231 |FifkE EE 73] 46/ 89 16.8 PPN 13 ME =% 2] 45| 87 12.0 75.0
e 3] 39] 82 9.6 72 4INP:15 145 e & 44 49] 93] 18.0 75.0
2507 |5 skth 73] 45| 88 15.6 T2 4ANE o =g &th 56] 55 111] 36.0 75. 0 A B
260 HHE == 45| 43| 88| 15.6 72 4 76fu {HE i 547 57 111] 36.0 75.0
2/ M m— 2] 39] 81 8.4 T2 6 NS T NI B 47 51] 98 22.8 75. 2 AE
280 [ WRIF JLBL 7] 39/ 81 8.4 72.6 18 A BT 47 51| 98] 22.8 75. 2
2006 BFE EBE 1] 46] 87 14.4 72.6 9 [ BE B 50 54 104] 28.8 75. 2
0L =28 B— 45 42] 87 14.4 T2 6 NS 80 [TEmE A 55| 55 110] 34.8 75. 2 AE
3L [FM.E #OBk 45] 48] 93] 20.4 72.6 eSS e 47 44]  91] 15.6 75. 4
L R BR= 1] 39] 80| 7.2 72.8 82 FHE = 451 521 97 21.6 75. 4 LT A—A 1L
33 B IEBL 45 47]  92] 19.2 72.8 83 =42 BE 477 50] 97 21.6 75. 4
4L [F] thIE 541 50/ 104] 31.2 72.8 84 (K E— 40 38 78 2.4 75. 6/BG
35fi iRk m 73] 42] 85 12.0 T30 ANS 851 %R Fa 431 47 90] 14.4 75. 6 A B
36 =H =t 44 41] 85 12.0 73.0 86fL [ILUF ®REA 48] 42] 90| 14.4 75. 6
L | =fE 9N 52] 51| 103] 30.0 730 A S 8T 7t B 477 43 90] 14.4 75.6 A8
38 IF X 40| 44] 84 10.8 73.2 88 | &F MELIE 46] 44] 90 14.4 75. 6
30 BE Ba 46]  44] 90| 16.8 73.2 80 ¥R EiE 47 49] 96 20.4 75. 6
07 S B 48] 47] 95 21.6 3. 4 ANS 90 #TF = 53] 49] 102] 26.4 75. 6 A B
6 [#E =X 53 48] 101] 27.6 73. 4 R EEEET S 45| 57| 102] 26.4 75. 6
DFL [RHF BUK 50 57, 107| 33.6 73. 4 0 e B 511 51] 102] 26.4 75. 6
4361 [FEK RE 1] 47] 88| 14.4 73.6 93 HH ZE 1] 48] 89 13.2 75. 8
AR Ak 1B 45 36/ 81 1.2 73.8 041 [TkiE 517 48] 47] 95| 19.2 75. 8
5 | =X & 6]  41] 87 13.2 73. 8 A B 5 | Ba i 49] 45| 94 18.0 76. 0 A B
466L [FR3E =3B 48] 45/ 93] 19.2 73.8 966 [JNR &R 46] 47 93] 16.8 76. 2
476 Bk W= 48] 45| 93] 19.2 T3 8 A B NEEY IR ES 48] 45| 93] 16.8 76. 2 A B
186 [EF MR 39 41 80| 6.0 740 98 FHE & 50 49 99| 22.8 76. 2
06 [BF &=A 43 43]  86] 12.0 740 00f (I & 61 50 111] 34.8 76. 2
50 |BFH fhE 46] 46/ 972] 18.0 T4 0 NS AEIEE 43 43] 86] 9.6 76. 4 AN B
P-1 Ko hao rYy—4957




20234 [58]

REFIIE

BREDODYFr ) To—dILTKRE

2023/05/23 (:X) 17:36

2023 £ 5 A 23 B (K)

BEAE RYJF7T12 =L * ok k * % * * % * % %

FTHUHIRR : PAR X 2 7%@@@@@@@0@ 1@ @ @ @ @ @ @® @ @

HDCPLERR: (E) 36.0 (&) 36.0 E=R
B B b & OUT | I N [GROSS| HDCP | NET B4 B & OUT | I N |GROSS| HDCP | NET
1016 | =& /a8 6] 46| 92| 15.6 76. 4 1516 [1EiE R 541 50| 104] 24.0 30. 0
1026 [MFK ZRIE 437 55| 98] 21.6 76. 4 1526L B0 e 57 53| 110] 30.0 30. 0
1030 | KRAR #Flz 46] 52] 98] 21.6 76. 4 15317 [k E JATE 56/ 60| 116 36.0 30. 0
1041 (B3 fRA 6] 45 91 14.4 76. 6 15467 %1 Bk 61] 55 116 36.0 30. 0
105fL [5H ;£m A7 50/ 97/ 20.4 76.6| A 1550 | T ER4C 60/ 56/ 116] 36.0 80.0/AE LT4—R2L
106/ 32 3R8h 48] 49] 97| 20.4 76. 6 15607 | ik B4l 58] 58] 116] 36.0 30. 0
107z IEM = 50 46/ 96| 19.2 76. 8 A S 157 =k 85— 50 53] 103] 22.8 80. 2 AE
108f [ A% =g 45]  51] 96 19.2 76. 8 1584 [JITFT #% 59] 56| 115 34.8 30. 2
1000z iLik &FA 51 45/ 96] 19.2 76. 8 1501 [FEER REER 6] 44 90| 9.6 80. 4NP:9
1106L [ 7R3 55 47| 102] 25.2 76. 8 A S [ SAEERERE 48] 48] 96| 15.6 80. 4 AE
1 &8 BiE 521 50| 102] 25.2 76. 8 1611 [345r 57 51| 108] 27.6 30. 4
1120 &k T2=] 45 50| 95 18.0 77.0 1621 |ZE8 & 57 51| 108] 27.6 30. 4
13 | RR E& 53] 48] 101 24.0 77.0 1636 | &% &— 55| 53] 108] 27.6 30. 4
11446 5% B 9] 52| 101 24.0 77.0 1641 B3 F— 53] 60| 113] 32.4 30. 6
1154 [#0H =& 48] 46| 94 16.8 T2 NS 1606 % B.A 50 56| 106] 25.2 80. 8 A S
1160 Bs =— 50 44 94| 16.8 772 166f1 | KM Z— 55| 56/ 111] 30.0 31.0
A= 55| 45/ 100] 22.8 T2 NS 1676L S =1 57 60| 117 36.0 8T.0AS
1181 BA WL 54 50| 104] 26.4 77.6 168 (B &% 521 58| 110 28.8 31.2
110 [HE % 5] 46] 91 13.2 77.8 169 HHE B 60] 56| 116 34.8 31.2
1200 %% HEA 9] 48] 97 19.2 77 8 AS 1707 1B SEiE 49]  54] 103 21.6 8T.4AAE
121060 [ ik JEhE 511 46| 97| 19.2 77.8 SRR 51 45 96| 14.4 31.6
VR APSEIZIES N 541 49| 103] 25.2 77.8 17261 [ RM IE& 45]  50] 95 13.2 31.8
VR GREIE = 551 47 102] 24.0 78.0 173 1 == 53] 53 _106] 24.0 82.0
12471 510 B2 511 51] 102] 24.0 78.0 17467 [0 B5 56] 56/ 112] 30.0 82. 0T A—A36L
1256 |[= B F08] 55| 53] 108] 30.0 T80 NS 1756 A%y B 49] 50, 99 16.8 82 2 AE
126 BA & 51 44| 95| 16.8 782 17642 t'l\:: mﬁ 521 59| 111] 28.8 82.2
1276 |[BHH —8 0] 47] 87 8.4 78. 6 A S 1776 a7k 50 53] 103] 20.4 82. 6 AE
128(% &%y IF1% 46] 53] 99] 20.4 78.6 1784 ch?— 56] 53| 109 26.4 32.6
1207 Bl &R 50/ 49| 99| 20.4 78. 6 T796L [jE5A IF — 53] 55| 108] 25.2 32.8
1304 | E% s&— 53] 52| 105 26.4 78. 6 A S 180FL [ PR %8 477 _46] 93] 9.6 83 AAE
3112 | £ —I 541 51| 105] 26.4 78. 6 1816 LAk hE—ER 55| 50| 105] 21.6 33 4
13201 | F% 2B 541 51| 105] 26.4 78. 6 1821 [Boll & 521 57| 109] 25.2 33.8
1334 [FEH WUa 500 61| 111] 32.4 78. 6 1836 [ EE & 53] 62| 115] 31.2 33.8
T344L [Nl Efs 56] 55 111] 32.4 78. 6 1841 | RER Bi= 62] 53| 115 91.2 33.8
1356 | KRATRE &R 5] 47]  92] 13.2 78. 8 A S 1856 | 2R B 50 56| 115] 31.2 83. 8 AE
1360 | KRk [EhE 48] 44] 92] 13.2 78.8 186z /NFII_FERE 50 52] 102] 18.0 340
1374 | Tk Zah 6] 52| 98] 19.2 78. 8 A S 187 | = EE.m ,a% 51 48] 99| 14.4 84 6 AS
1381 [/ =¢ad 511 53] 104] 25.2 78.8 1886 [#% B0A8 56] 64| 120] 34.8 35. 2
1300 ol Ba 40 51| 91] 12.0 79.0 1806 B% =& 591 54| 113 27.6 35 4
1400 | E qéa 500 47| 97 18.0 79 0N S 1906 Bl = 63] 53| 116 30.0 86. 0 A B
T4 [Tk EH| 511 46| 97 18.0 79.0 101y [0 2= 60] 56/ 116] 30.0 36. 0
1426% | H BHX 53] 50| 103] 24.0 79.0 1020 %k —h 61] 61| 122 36.0 36.0
14301 (B =35 53] 50| 103] 24.0 79.0 1936% (R R A 64] 61| 125 36.0 39.0
1445 BH Bt 60] 55| 115 36.0 79.0 1041 |k s 65| 63| 128 36.0 92.0
45 =10 B 511 57| 108] 28.8 79 2 NE 19506L [k1E FE= 67 63| 130 36.0 94.0/BB
14607 | EH X 48] 46] 94 14.4 79. 6 19667 Lk o 86/ 79 165 86.0] 129.0/BM
1475 [ E_TRER 53] 53| 106 26.4 79. 6 A B
1480 (A2 ZRe 53] 59| 112 32.4 79.6
1496 [RE —1& 6] 46| 92] 12.0 30.0
501 |58 & 50 54 104 24.0 80. 0 NS

2

R

R ho v )= 57T




